Write the missing digits to make this addition correct.

2 + 2 | = 200
1 mark
John buys one toy car and one pack of stickers.
He pays with a £10 note.
How much change does John get?
'S
Show
your
method
-
N———
2 marks
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Ken is playing a game. He has 4,289 points.

Then he scores another 355 points.
Ken's target is 6,000 points.

How many more points does Ken need to reach his target?

—

Show
your
method

2 marks
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Layla makes jewellery to sell at a school fair.

Each bracelet has 53 beads.

She makes 68 bracelets. W ﬁ

Each necklace has 105 beads.

She makes 34 necklaces.

How many beads does Layla use altogether?

—

Show

your
method

N

beads

Ken buys 3 large boxes and 2 small boxes of chocolates.

Each large box has 48 chocolates. Each small box has 24 chocolates.

Lame Small
48
24
chocolates
chocolates
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How many chocolates did Ken buy altogether?

—

Show

your
method

AN

chocolates

Write the three missing digits to make this addition correct.

IS ' ™y F 1 N

5|13 |2 9

This table shows the heights of three mountains.

Mountain Height in metres
Mount Everest 8,848
Mount Kilimanjaro 5,895
Ben Nevis 1,344
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How much higher is Mount Everest than the combined height of the other two mountains?

Show
your
method

2 marks
Write the three missing digits to make this addition correct.
1 5
4
1
2 marks

This table shows the number of people living in various towns in England.

Town Population
Bedford 82,448
Carlton 48,493
Dover 34,087
Formby 24,478
Telford 166,640
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10.

11.

What is the total of the numbers of people living in Formby and in Telford?

1 mark
What is the difference between the numbers of people living in Bedford and in Dover?
1 mark
Write the four missing digits to make this addition correct.
6 8
+| 3 9
9101119
2 marks
These are some prices in a fish and chip shop.
Fish £2.30 Peas 35p
Sausage £1.80 Curry sauce 40p
Chips (small bag) 60p Bread roll 30p
Chips (large bag) 90p Pickled onion 28p
Alfie buys one fish, a large bag of chips and a pickled onion.
How much does he pay?
£
1 mark
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12.

Megan buys a sausage and a bread roll.

Chen buys a small bag of chips and a curry sauce.

How much more does Megan pay than Chen?

—

Show

your
method

~—

Seb has a box of 120 cubes.

He uses some of the cubes to build a tower.

77 cubes are left over.

How many cubes has he used?
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Seb has 77 cubes left over.
He builds two more towers.
One tower uses 18 cubes and the other uses 35 cubes.

How many of his 77 cubes has he got left now?

—

Show
your
method

N—

2 marks
The table shows the cost of a new football kit.
ltem Cost
Shirt £8.75
Shorts (1 pair) £5.95
Socks (1 pair) £4.15
Altogether, how much does the complete football kit cost?
£
1 mark
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